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10 Uboottdood

1.1 0o

1.2 000000

1.3 00000

gobbooog,bboggooboboooobbboooobboag,bbod
000 (000000, 00,00)000. 00000O0O0O0OOODODOOOOO.
O000,00000 (equation of state) 0, 00 0000000000000 0OO0O
O000000000. 000000000 (OOD0D0000 (thermal equation of
state) 00 O00O00)0,00,00,00(00000000000O0O0O),0000
gogbbo.obodadg,bbbdad

p=pp, T, pin) (1.3.1)

gooboo.bood, wU0ndb0o0boboobobgbo. bo0bobon
g,bo0obooboobooobboobuooboobboo.oob,0ob0bon
gbogob,bboobbooboobgoobgn.

0000 (0000000000000 0)00000000000000,
p = pRT (1.3.2)

Oo00. 000, RO0OOOO0OOOOOOO,TOOOOOO. (RO,0000
0oo0oR,O0R=R,/m00000000000. 000,m0000000O0O
goooboo. 00, R=nk0000. ODD0OO, (00000000, 0000
00000000000, D0000000, R=28TJkg ' K'OOO. OO
g,ddddooooddd, oo oooobb. ooooooog, g
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00000 w=pu/ps000. 000, p,pe000000000000000
000O0. 0000,w0 00000030000000. 00000,0000
00000000,00000000000000.000,p=pRgr0000,
Ret = Ry(1+wR,/Ry)/(1+w)000, Ry, R,ODOOOOODOD, 00000
000000000.w~001000,Rs0000000000,000000
0ooooooooo.

0000000000000,(1.32)0000000000000000000
0000,000000000000000000.0000000000000
0,000000000000,p=pl-Br(T-T)000.000,B,000
000, p,7,000000.0000,000,000000000000000
000000.000,000000000000000000000000,0
00 (000 ~1.9%), 00000 (1%),000 (0.26%), 000000 (0.13%), O
000000,00000000000035%000.000000000,00
0000D000000000000,000000000, 00 (salinity)SO000
0000000000. 00000,00000000000(00,00,00)
000000.000,0000000000000,

a=aT, S, p) (1.3.3)

O0000.000,a=p"'0000,00000000.0000000000
oooo,

da = <%> dTl + (@) s + <@) dp
T ), 95 ) 1, /) rs (1.3.4)

= o BrdT — BsdS — B,dp)

000,00000,0000 6, 000000 ps, 0000 (COOODODODOO
0)s,00000.0000,000000000000,00000000000
gogboooa,gbbboogooboog.oboo,

a=ag[l+pr(T —Ty) — Bs(S — So) — Bu(p — po)] (1.3.5)

000.0000000000000000,0000000000000000,
Br~2(+1.5)x10“4 K- (00000000000000000), By ~ 7.6(£0.2) x
1074 ppt™!, 8, ~ 4.1(£0.5) x 107 Pa"'000. 00OO0O0OOOOOOOOOO
ooo,(1.3500,

p=poll = Br(T —To) + Bs(S — So) + Bp(p — po)] (1.3.6)

gogo.
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000000000, 0000000UooooooocooOoOgon. (1.3.5)
0000oooOpgoO0,000000(@O0b0)0bO0000oooo0.0ooo,
gooooobooooouo. oo oooobooo,oooooooooon
oooooooo.

Bt 2
T(T—To) — Bs(S = So) — Bp(p — po)
(1.3.7)
00000000 B 0, 00000000000. 00000000 (thermobaric
parameter) 00, 00000000000 ODOOODOOO. prO000000OO
godoo. oouooodoboobo,0o0oooboooo. oooog, boo
ddddddooo,dddooooooooooooooboboobob.oooo
goddobooooooboooooooo,onooooog.

a=ay |1+ Br(1+~vp)(T —Tp) +

good,oboboooob,boboboobouoboboboboo.obog
0,000000000000,000000 (0000000 OoDoOOoOo0oOOQ
0000) 000000000000, 000,0000000000000DOO
goooooououoooooobobob,guguooooooooboboobobobb. O
000000000, 00000000 p=(00)000,0000000D0O
0. 0000000000000 000, 0000 (barotropic fluid) 0000 .
p=Cp'(O0OD0)0O0O00O00O00O0O0O,0000000DOODOO0O0DOOOOO
0.00,0000000000000000000, 0000 (baroclinic fluid) O
go.

1.4 0O0O0O0OO0OO0O0O

1.41 O0O0OOOO

gooboboooobobooo,bboooobbboooobbooo,bboa
0o00o0oooo0o0o0oooOoo0oU0UooooOoUooooO. (Dooo,o00
gobobooobbooobbooobbbooo. oo, obbooobboo
0,0000000000.) 000000, 000oooooooooooooo
00000000000.00000,00a=p'0000000000000O
goboobooboo r,gobooob g, bO000DbUO0OO0DO0OO0ODOO0
000.0,00000 (00000000000 00DOO00O0O)00000O
ooo,0b0b0obooooogoogoobo socgooooobobo.boo,bobn
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goon
I=1(a,n,S), (1.4.8a)

godooboooooobooooooo
n=n(l,a,5) (1.4.8b)

gobb.oodbboooobboodb,ooobbbooobbood, b
gobbuooobbuooobbuooobbooobbooob.bboo,boo
ggbbbooogbbobooooobobo.

000000000, (148)00000000000,00000000. (1.4.8a)
000000, 0000,

ol 0l ol
dl = | — do + (—) dn + <—> dS 1.4.9
(ao‘)n,s M) s ! 95 ) o ( )

ggbbo.oog,bbboooobbbuoooobboaon.

000000000,00000000000,00000 (00000000
000)00,00000000,0000000000000000000000
000. 00000,

dl =d'Q —dW +dC (1.4.10)

oOopooo. oDoOo,JwoOooooooo,d0D0000oogong, dco
0000000 (D0oDO,000000)000D00OCOO000DOoOoOOUOoDOd
goodooooooo. bbbbb, o000 oo. Do o,
w,choooboboooboobooo,0bobooboooobooboboboog
gobobooobbooob.boogb,ogubbooobbuooobobod
gbbodbooobuoobbooboooboobba,boobbuoobobo
0000000000000 0. 0000000, 000000000D (oo
0000000000)0o0O0oO0oO. (14.1000,00000000000000O
gobbo.bogg,bboogobobboooobobooooooobog.

I I I I
000000000000, (0booo0)000D0ooobooooooooo,

Tdy = d'Q. (1.4.11)

ggbob pbbObO0ooooobbboda. bbbbogg,gooboo
0000,0000000000000. (14.1000,0000000000
000dQUOD0000000O0O0OO0. Dooo, (1411)0,000000
gboggbboobobooobbuogb,ggobooobboogoobo.
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ggbbbuoodgd. bbugobuogbboobb,obboobboooboo
gogbobodg.gob,ogogaoon,

dW = pda. (1.4.12)
000,e000000,p000000.
ggouo: bbbooooooououooooooobobooog,
d'C = uds. (1.4.13)

oobo,pdb00obO0b0O0OO0oO0OOoboOo,Sob0coboobobboob.oobog
00,0000000(@O000bO000)0,000000000,000
gobooobooboooo. ogbboobuoobbooboo,bbon
000000000 (1413) 000000000, 00000000000
goboooboo. boobodboboob,o0boooboobbon
gbobo. gobob,g0bboobboobboobooboboobobon
gbooobo.bogboboboboboboboooobobobobon,
gbgoboboobooboboobooboboo.bobboobon
0000,00000000000D0D00O00(COO0O0O0O0OO0)oooo
0.000,(l41)000000000ODOOOOOOOOO.

(1.4.10)-(1.4.13) 0 O,

|dI = Tdn — pdo + pdS| (1.4.14)

goboo,gbboogbbboogbobouoobboodg.bbuogobboo
(148)0000000000O0OODO, 1414000000000 0O0O0O. OOO
ggbboobuooobboboool.

1.4.2 0O0O0O0O0OOO

(14.14)00,

ol ol ol
(91 _ (9 _ (L 141
(an)a,s’ P (aa)n,s’ g <85)w (1415)

gob.gbbobodg,gbobbobuogogobobuooogoboob.bodd
0,(1414)000000000.00000000000DOOO0O (149000
g,0bogoobobbooooboboda,obbuoooobboaogbobbod
gbogooobgo.

1 p 7
= —dl + = — = 1.4.1
dn Td + Tda TdS ( 6)

fundamentals.tex 2013/11/14(0000O)
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oooooo,

(9 1 (On o 9n
p_T(aa)LS’ g a (a]>a,5’7 a T<aS I« <1417>

gbogbogbooboooo. bo,bobogog,ogbobobobagobd
goooooooboobooo,ooobob0obobobooooogog sgoooo.

ggbobobooodn

(1414)00000000000000, 0000000000000 0OO0OO
ooo00o0ooo.oO, (1.4.15 00,

(g_z)n _ (g_g)a (1.4.18)

gbobo.ggb,gbogboboboobboobo.goobuobooboboono,a
0000000000 (1440000000000 DODODODODODOOOOCOO,O
gogogooobobboboboobobbood. bbbooobbbobooooooad
goo.

ggboobobooodan
h=1+pa (1.4.19)

00000000.00000000000, (1.4.14) 0
dh = Tdn+ adp (1.4.20)

ooo.ooo,AhdnbDpObobObO,0onOO

oh oh
dh={—| d —i—(—) dp. 1.4.21
(5‘77)p "\ ), ( )
gdd,ggooooooobb,
T= (@) and o= <@> (1.4.22)
o/, op /,

ooo. RdnpO00d0000b00OO0OO0OOODODODOOO,

(),-(3)

ggo.oba,gbbbooggoboboooabn.
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0000000000000, (14.14)0
dl = Tdn — pda = d(Tn — pa) — ndT + adp (1.4.24)

000,00000000(@00O0, 000000000 oO0,0o000ooOoon)

G=I1-Tn+pa (1.4.25)
goooooooooaa,

dG = —ndT + adp (1.4.26)
god. oo, gbougouobouoouoouoo, gonooogoouon
0o

on 1oJe!

— | =—|= 1.4.27

(o), = (ar), 420
goo.

O0000o0ooooooooog, (1.4.14)0
dl = Tdn — pda = d(Tn) — ndT — pda (1.4.28)
gobo,gbobobuoooobboboooooon
F=1-Tn(=G—pa) (1.4.29)

nooooo,
dF = —ndT — pdo (1.4.30)

ggb.oboogd,bbooggboob,ggbbbooobobbodgd

(S_DT _ (%)a (1.4.31)

gogo.

gogboobooogd

000000000 (148)0,0000000DC0OO0O0UDO0ODODOOODO
O000000.00000000000000000OO, (1415 0000,000
gogobbbbbbbddododoodoooooooooobo. bbououduuogo
gobooa,0bbbogoobbbuoogbbbuooobobboooog,bod
gboobouoobobodgbbuoda,ogobuoobbuoobbuoobbodgboo
00.(142)0000000000000DO000OO0OOOOOOOOO0OOO
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0,(14.26)00000000000000000000000000, (1.4.29)0
00000000000000000000000000000000000, 0
000000000000 000000.000000000000000000
000000,000000,00000000000000000. 00000
0000000000000,0000000000, {p,p,T,n,I1}000000
00000000000000000.0000000000,0 (1415000
00000000000000000, (148)00000000000000.

gbobobobobobobgobo,obooboobdobobobobobo
000000ooooooooooooo. ooog,I=I1(e). D000OD0OOCDOO
O00000,00000000 (homentropic) D00O0OO. (1.4.15) 000000
goooooobooooboobo,bboobuooboobbo.gob, oo
gboboobbgoobob. boobbuoobboobbuoooboooboon
0,0000000000,00000000p=p(p)00O0O0CODO.

ggobobodu,gogobbbbouooooobbobo. obobog,d
gobobooobbooobbooobboooob.ooob,0oooboboa
gogobbobbuoooog,bbbbouoo. bbuooooobbobbo,dd
gogbobuooooboboood,

I=cT. (1.4.32)

0o00,c000000. 0000000000 (141400000000000
0000000 p=pRT(ROODOOO0)0000O0,00000000ODODODOO
gbboggbog. bbogdgb,gbogbbuodgbooobuoobboobog.
g0ooooooboUp=pRIOUbU00,00b0b0o0boobbobDbOon

*1

gooobooodon

gobbo,odboboboogoboboooobbbooobboo,obboa
gbbodboogobuogobboobog,bogbooobuoobbuoobobo
0.00000000000000ODODOO0O0O, (14140

Tdn = dI + pda. (1.4.33)

*1

fundamentals.tex 2013/11/14(0000O)
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000,/0«070000000,

Tmp:<§%)adf+{(§é>T+p} (1.4.34)

000.0000,00000 (0000000 «)0000000,0000 ¢,0

ggboobooggoo.
_ on\ (0l

000, (14.32)0 ¢0 ¢, 0000.

D00, (142100000,

oh Oh
Tdn = dh — adp = (—) dT" + {(—) - a} dp. (1.4.36)
oT » op ) 1
0000,0000¢,0,
B oh\ [ 0Oh

O000000000. 0000000000,000 v=¢,/¢,0 k0 =0 R/,
ggbbooogoobn.

00000000, h=I+RT=T(c, +R)00D0. 00D, ¢, = (9h/IT), O
gogoo,goooobobon
=y + R, (1.4.38)

000 (y-1)/y=«<00000.00000000,000(00000)000
0000000000000,00000000000000000,00000
0kT/200000000000 RT/2000.000,k00000000, RO
0000000.00000000000000000N,0 0,0,00000
00000002 000000000000 3000.000,0000000
00000000 I~5RT/2000,00000, ¢, ~5R/2, ¢, ~7R/2000
00000000.00,0000000000000000000000000
000000,¢~103Jkg ' K'OOODO. 0000000000000 o7,
0000000 T000.00,00,000000000000000000
00000,0000000000000000.00000000000000
000,0000000000000000 (000000)000000

fundamentals.tex 2013/11/14(0000O)
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1.5 O0000o0ooooooogo

oo0oO0ooOoOo (oo, (14140, 000000000D0O0ODODODODODOOOO
gd. oog,ggoboboooooooboboobbboooooo,bbbbood
goggobobbobobbotodoo,gooooooobbobobbbodggooag.
gogoboboooobbo,oobbbooa.

() 0000oD0D00ooooooooOooooon.
gob,gdbogbogbobooouobbuoooboobbbooooon,
gbbooobbuoobobboobuoobbuoobbooobbooon
gobbobuooooboboooogoooo.

i) O0O0OO0O0O0D0DO0DO0O0O0OO0OO,0000000000D0D00ODODOOO.
gbooa,budbogbboobogbuoobuoboobuooboonn
gogbbobuoooo,buoggdoobboogoooboobog.

0000000,00000000000000000DOOO0O0O0O0OOD (OO
0000000oooooooooOO0oO0)0,00000000DooooDooooO
000 (D00O0O0000O0O0O000O0O0O00DU0oOOOOooDOoOooOO)ooo,
gbobooogbobobobogbbbobuobooboboobuaboogbo.

(14.10)00000000000000000000000,
dl = —pda + d'Qr (1.5.39)

00000.000,pda0000000000000,dQ,0,0000000
000000000000 000,00000000000000000.000
0000000000, (1539)000000000.0000

d da -
oY O 1.5.4
g TPy 9 (1.5.40)

0O00,Q,0,000000(0000000000000000O00)0000
000000000000000,000000000000000000000
2 0000

“2000000,000000000000,00000000000000000000000
gbobgbg,bobobobobobobobobobobooboobobobobaooa.

fundamentals.tex 2013/11/14(0000O)
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00000, (1.5.40)0,

dl :

gogb.bodg,0obbbooogbbbuoooobboaof.

Qr0000000000000000000000000000,00000
gogobobb. gbboobodog,ggobbobbooooobooboo,bodad
00000000000 (000000000 0)0000D0U0o0OoO0O0DO0OoO.
go,bogogbbbuooogoboboog,bbogoooo

as .
— = 1.5.42

D00000000.000,S00000000000.

gbbogbogbobodbooobuoob,obbodbbooobuoobobo
goooOoOoO,000C0O0O0O0O0O0O0OOoOOOOOD. 00O, (14149000
O000000,000 (1.541)0 (1.542)0000,0000000000

dn 1

-%_TQM%SE—Q (1.5.43)
000.000,Q00000000000®000. (00D0000,0000 (i)
0000 (1411)0000000000000000,0000000.) 000
000000000000 D0000000,000000000000000
0000000000000, 0000000, 00000000000000
D0DO00. 000,00000000000000000000, 00000
n=n(l,aS)00000000000000000000DO000O. 0000,
0000D000000000000, =1I(,0,8) 0000000000000
000D.00,00000000000000000000000000000
000D000D0000000. 000000000,00000000000
000D000000D00. 0000,00000000000000000, O
000000D000000D0000000000DO.

ggoboboobbooooogobboobbbodoooooboboobboogd
ggbob,ggbobbboooobbbuoodgbbbuooda,bboooobbboo
gbogobog.bogbo,bogbbobobogooobo.obbag,d
gogbbodog,bbbooo,buoogbbboooobbboooobbboo
gogobbobbuoooogb. oo, obbbbooooobobob,odd
gogbbbuoooobboooooboo.

®¥Qr0000000000000000000000000000000000000, Q0
0000000000000000000000000000.

fundamentals.tex 2013/11/14(0000O)
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1.5.1 OU00OO0O0O000ooddoonn
ooo0oO0o0O (DoooOoQ0O0OL0)LO00O0O0O0O0O,0D0D0D0O0ODODODODDOO
ooooooo,d =c¢dl’ooo. oooooooa,
dQ = c,dT +pda or d'Q = c,dT — adp. (1.5.44)

gogouoobbbooooooo,bbbbooooouoobobb, b0
ggboobuoogoooo

dT da : dT" RTdp

e pe = = = _C 1.5.45
Ca PP T ey T e Y (1.5.45)
000.000000000000, (1545000000,

dT :

co—— +paV-v=0Q (1.5.46)

dt
00000.00,000000000000700000,p,«000000,

d . pR
LoV v =0"
dt Co

(1.5.47)
0oo.

goboooo,gbbbtdwddbbbogoob.bbogoooboobog,

dw

dt
gooOoOoC0.000,w000000000000. (COoooooooooo
000,000000000000D000000.)000O000000O0O0OO
O, 0o ououou,ooouoouo
0. 0oooo,oooooood Q:—LCU'JDDDDDDDDDDDDDDD.
ood, L.odoooooon.

— (1.5.48)

gd,boogobooo,gooobod

gobboogobooda,bbogobbuoodgbbooobbooobobo. g
00, (1.541) 00000, (1.543)00000000000. 000000000
gbobodgbbobogboobuoobbooboboob,obbuoobbodgboo
gbbod,uggbbodbooobuoobbogboooboobboobobo
gbobooobo.ogbogoob,gobuodgbooobogboobobooboon,

fundamentals.tex 2013/11/14(0000O)
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goggobbbobboboood,buddoooooobobbbobboodggoaad.
O00000ooooooo, (1.s44)0000,

cpdT = adp (1.5.49)

00000O0O000. 000000000 oO000oO (boo0,00)bDoOobo
gobobooboooobbooo, bbb buoooobobobbooouobb,o
0000000000000 0000. 00000, 00 (potential temperature)
f00000.000,0000000 (00000O0ODOOOOOO)00O0O
00 ((@0O0O0O0000000 1000hPa00000000O0)0000000O0OO
g, 0odbbooobooubbooo. bbb, o0boboobboobo,o0bbo
I I A R Y I

o
dt
000000000000, s0000000000o0oDooooooooooo.

oopooooooo, (1544)000000000000O0O0O0O, 000000
gogboood

0. (1.5.50)

dn = c,dInT — Rdlnp (1.5.51)
goooo.oooogg,
0 PR
/ cpdlnT—/ Rdlnp =0 (1.5.52)
T p
Oooooooooo. ooo0,000 ¢, 0 ROODOOOOOOOOODOO
0oo,
ezT(@) (1.5.53)
p

0000.000,pz00000,x=R/c,00D0.

gboboobobooobo,bbooboobbuoobboboobboobobo
gogbooboogoaon.
dn = c,dIné. (1.5.54)

00,¢000000,
n=cydInd. (1.5.55)

00 (1.554)0000000000000000O0O0O0O0O0O. 00O, (1.5.55)0,
goboboodoboodoboodooodd, e ubogooogooodoood.

(1.5.55)000000000,00 (1.543)00000,

o 6 .

fundamentals.tex 2013/11/14(0000O)
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000. 000,60 (1.553)000000000. (1.5.46), (1.5.47), (1.5.56) O,
000000000000000000000000.

goboobodgd pbbO, 00000000000, 000000000 prd
000000000, 000000000000. 00000000 p= f(p,T)
ggbobobogg,bbogogobobod

po = f(pr.0) (1.5.57)

gbog.obodgbog,boobobbob,

PRr
= 2 1.5.58
Po RO ( )
oo, goboooooooo. ooo,
/v
pgzp(%) (1.5.59)

goooo.

000,0000000000,00000000000000000,000
ooooooo,
0 6T Sp 16p &
oL e (1.5.60)
¢ T p Yp P

gogbbobogooboboood.

gogboboboogoboboooon

(1.555)0 (1.5.53)0, 00 0000000000000 OOO. 000, I=¢T
goodbdp=pRruobgbog,0bobobooobobooobobobn
ggoobogggoo.booag,

’7): ¢, InI — RlIn p + const ‘ (1.5.61)

000,0000000(0000000000)00000000O0OOOOO
gbo.bobogoboogbobo,ogbbboogboboooobobuooobbod
ooooooooo. ooo, (14.1700,p=pRTO0O0 [ =¢TO0O0O0O0O
O0000ooo0o.o000,(156)0000000000D0O0O0OODOOOOO,O
gobbuooobbuoodobbuoodobbooobbooobbb.ooob, o
gbbogobuodgbogbboobooboboobobobbooboo.bbo
000000000000000,00 (1.561)0000000000000O0OO
goo.
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1.5.2 O0O00O0O0ODOOOO(DO)

gooooooooooo,ooooooooooooooooo. oobg,
(1543) 0000000000, 0000D0D00COO0O00O00DOODODOCOCOOO
gbgbooboboobo.boobobuooboboobobooobob, o
gobbobooogbbobuoooobboooob,ooobb,ooobboboo
gbooobooobo,ooboobboobgoobo. oo, boobboobbof
gbbodgbooob,gbooobuogobbogbooobuoobbuooboo
god. oogooo,bbobobooooo,bbobbbodoooobboobbooa
ggbbobooogboboooooooo.

(h)ooooooooooooooooooo

n0000000 (DOoOO0o0OD0)0o0oooooo,

), (), 7 (55)
Tdn=T | — dp+T | — dp+T | =—= ds
K (ap p,S g ap S Y 95 PP

(O I 9 I
=T (8_/))1?75 dp -T (a_p)pﬁ (%)ms dp +T (%)mp dS

Ooo0D0.000,(1.543)0 (1.542) 00000, 0000000000

o\ dp 2] P\ dp_ o M\ ¢
T(a—p>p,@‘T(%)p,s(%)nﬁ—@? T(as)p,ﬁ (1.5.63)

0o00. (dp/dp),s000 ¢, 0000000000DO0DODODO. 000000
gbbuogboboobo,ggbboobboob,ogbboobboobbog.
gobobo,ogoboboodd

(1.5.62)

dp 1dp

o Ed Qlp] (1.5.64)

000000000000, 000, Q[ =(3p/0n),sQ/T — (0p/S),,5 000
000000000000000000.00000000000,000000
oooooooo.

gogbbobuooobbbuooobobboood

ggobobbbo,googbobbboda. bbbbooooobb,bbodo
O000.0000,0000000000000000O, (156400000000

fundamentals.tex 2013/11/14(0000O)
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g,0buoggobboogogb

dp

a _ 1.5.65
o = QL) ( )
000.000000,0000000000000000000,000000
000000000000000.0000,0000000000000000

gbgobgobobooboobgo.

000000,00000000 kmO000000000ODOOOODOOO, (1.5.65)
gbbodbooobuoobbooboooboobboob,obbuoobobo
gooooOoOoOoOOOOOOOOO (DOOOOD)0O0OO,0DD00D0000DO
0.000000dp=—-pgz000, (1.5.64) 0

dp  podz _ (1.5.66)

000.000000000,00000000000000000000,00
0000000 p0 p00000000000000C0CO000O00. 00000
oooooo,

dt H

i(wﬁ) — QU (15.67)
p
goodo. ooo,

H,=¢c/g (1.5.68)
0000000000000 000. D000 ¢~ 1500ms 00000, H, ~
200km 0O 0O. (1567) 0000000, (0000000DO)0DO00OD0OOO00OO0O
gd.bbobodoodgbobbo,oobbobuoooobbbooodgbb z=00
ggobobbu,gggogooobod. bbbboooa,gobbobodad
0000000000o0o0DO. 000, (lse0oooog,

dp Pog 3
— =) === ==5 k k 1.5.69
(az)n 2 gm™°/km ( )

O000.000,0000000000000(@MO 5km)00000ODOCOO
00,000000 25kgm™3, 0000000000000 1/40 (2.5 %) OO0
go.
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(I) D00o0o0oooOoOoooooooooo

n0000000 (D00O0O0O0)0o0oooooo,

1), T+ (5) 0 7 (58)
Tdn:T<— Ar+7T (=) dp+T(=L) dS
aT ), s op) 1.5 oS ) .,

(1.5.70)
:cpme(@) dpw(@) as
op ) r.s 0S ) 1,
0DO0D0. 000, (1.543)0 (1542)00000,0000000000
ar T (on dp
—+ (=) ==Q[T 1.5.71
i, <8p)T73 T (1.5.71)
000.000,Q[T=Q/c¢,—T¢c,'S(0n/dS)r,. 0000000000 (1.4.27)
oooooo,
dr T dp\ dp
— ) = =Q|T 1.5.72
i 2, <8T)p a @ (1.5.722)
0000000
ar T (oa\ dp
— —— =) ==QIT 1.5.72b
i or) @ =ar 7
000. 000000, 0000000000 400000000000, O
0o,
Ip
<E)_T)p — Bp. (15.73)
0o0oo, (1.5.72)0,
— — — =QI[T 1.5.74
i op dt Q[T ( )

000.0000000000000000000000000000,0000
00 Br=1/TO0OO.

gbooobgobobbobobooboobod

00000000000 00000000O0O,00000000 (1b74)000O
O00000oooooooooo.ooDooo, (b6 00000,

dr
- = QI[T] (1.5.75)
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0O00.00000000000000000000000. 000000000
00,(1574)00000000000000000000O00O,000000.0
000,dp=—pgd-00000, (1.5.74) 0

1dT | frgdz _ QI

= 1.5.76
T dt cp dit T ( )
ooD. 70000000, 00 ppO0ooOoOOO0O,0DO0O00
d T()Z
— |\ T+ — | =QT 1.5.
i (T 3) = o (15.77)
gooooo.oog,
C
Hy = 2 1.5.78
" Brg ( )

0,000000000000000.T+Tyz/HrO0,(0000000CO)O0O0
000.0D0000,000,00 00000000 (ODDO2=00000
0000000000000 0000000. 0000000 (boboooo)o
000000000 (0000000 0)0oooooO,0000000.000,

BrgTy

Cp

O0~T+ z. (1.5.79)
0000,0000 6000000000000, (1579000000000
00000000000000. 00000000000, Br=2x107*K10
¢~ 4x10° kg K'OOOOO, Hy ~ 2000km 00 0.

gbogboobo,oobobooboboobobooboboobob. o

0o, (1.5.76)00,

rwz—(%D :Tf% (1.5.80)

n P

000.00000000000000000000000000, 8000000
D0000000. D00000000000000000, Iy ~ 0.15K k™!
000.0000000000000000,000000000000 (1.5.80)
D000D0000. 00,000000000,00000000000000
ooo.

(1.568)0 (1.5 )00 0000ODO0O0OO0DODOD0OOOODDOOODODOOO. OO
0000000000000,0000000000000000 (00000, ¢
00000000). 00,000000000000000O0 (Br)00O0O0OO
O00,0000000000,00000000000000O0(@O0O,2713K)0O
goooooOooOOOD (DD)DDOD. 0000000 0O0O,00000000
ooooboooooooooobo,0bobob.goog.4CcOobobobn
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ggobobb,buoogbobobouooooobobob. oob,bbbodd
CO00ODODObOOOD.

0000000,00000000000 gr=1/TOOO,

Oy =2 (1.5.81)

Cp
oo, dooooudt 10Kkm_1DDD.DDDDDDDDDDDDDD,D
goooogoobooogno.

(III) bCooooOoOoOoOoOoOooooooooo

n0000000((@ODOoOOooO0)0oooooooao,

(O On n
Tm_T(mj%ﬂT+T(% Hﬂmwrgsjmw
:wMT+T(@> da+T<@> ds
da ) 1 5 ) 1,

odo.goodgooodgoo,ood
dT T ([ on do -
—+ |5 — =QT 1.5.83
dt+@< ) QIT] (1.5.83)

OD00.000,Q[T)=Q/c, — Tc;'S(d1/0S) 1.

(1.5.82)

000000000, 0000oooooo (1.4.31)000, (1.5.83) O

dT da .

e 1.5.84

gt =0Q ( )
DDDDD.DDD,(1.5.45)DDDDDD.DD,DDDDDDDDDDDD,
(1.5.83)DDDDDDDDDD,DD cp%cUDDD,DDDDDDDD dT/dt:

~

Qrooo.

1.6 0000O000O00:(00)

1.6.1 0UO0O,00000000,000000

gobboboooob,ugogbobob,o0bbbduogbboboodgbbboo
gobobuoogobbo.gobboogbbuooobooooboboboon,od
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gobbuooobbuooobbood. bbooobbooob,ooobboo
gogbbobuogoobbbooooobobbooodanbn.

g

000,000000000000000px(00000O00O0OOOOO 10°Pa
000000000)oDoo0o000000,0000000D0DoooDoDoDoO0oO
g.gbooda,gbbbuooobb,o0bbo

PR
005, Tpp) O =T+ [ Tia(S.Tp)dpC (1.6.85)
p

oooooooo0o. ooo,I,=(0T/op), 000000000000 0O0O0
O0. 00np=nST,p)0000000000O00OC0O0, 000000000
gboobgooob.ooboo,obooboon

n(S,T,p) =n(S,0,pr) (1.6.86)

000000000.000060000000,0000060=40(x(S,T,p),S,pr)=
0(T(n,p,S),S,pr) DOODO.

O000000oo, (1.6.8)00000

dny = %d@ (1.6.87)

ggo,bbobbuogoggbbbbbuoooobbb. ogb,bbbodad
ooboobooboobooboooboo,0b0b0b0dy=0000de=0000.
goo,0gbdbdoobooobogbodgbdodgooon, e, 0ubaoan,

), (5) (&)
Tdn:T(— dI'+7T | — dp =c,dT +T | — dp. 1.6.88
oT .S ap T,8 8 ap T, ( )

0000000000000 0D0O0,0000T=60dp=0000,000 6dn=
cy(pr,0)do. OO,

df
dn = cy(pr,0) - (1.6.89)

000 ™ 000, dy/dd = c,(pr,0)/0000. ¢, 00000000000, 00
goodd
n = ¢, In 6 + constant (1.6.90)

“Oooooooooooa.
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O000.000,00000000 (1.b55)000000. (1.6.89)000000
oo, 0jobooouoooooooooooaa,
o 0 .
— == 1.6.91
det TQ ( )
goooooooo. ouo,0ououooo. toooouooooo,ouo
godoooooooooooooooooooon. oo, oo0odg,o000o
0o0oboooooooooob. 000000000 DbObOOoODOooon
00000000000000000000,0000000000 (1.543)00
o000 (1.69)00000000O00O.

ggoboob,bgoogobbbbouooooobbobbog,oogob. o
gogddoto, 0o, oooobbbooboboob. 0o0,0d
gobboooobobo,gbboboooobbooo. bbb, oobobooaon,
gogobobbobobbooooooobobbobbbooooobbobboogd
ggo,bbobbougooobbobbouoo. bbuooog,obbobodgd
gogbooboo,gbbbdogobobbuoobobboooobobboon.

gobooogod

00000000 p0,000000000000,000000000 (00
00 10° Pa00000)000000000000000000000000. O
0,000000p=p(S,T,p)000000000,00000

oo = p(S, 6, pr) (1.6.92)

000.00,0000(0000,00000000000)0000000000,
00000000000000000.0000000, (1.6.92) O pp = pr/(R6)
000,000000000000000000000.000,0000,000
0000000000000000000000%00,000000000,0
0000000000D000000000000000000000. p,000
000, (1567) 0000000000000,

0000000000000000,00000000 1000kgm™20000
goggoobobooo. bbb ooobobbobbooooooboooo
0, 0000 op(‘sigma-tee’), og(‘sigma-theta) DO O O00. OO0,

or = p(p, T, S) — 1000, o, = p(pr, 0, S) — 1000. (1.6.93)
“0ooO000,00000000000.
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goboobbouoodobbuooobboobbo,cbbuoobobboobboo
O000.000,0,0,00 200bar(0000000 2km)00000000O0O
ggbooogodabn.

1.6.2 U0O0OOOOOOOO

0000,00000000 (000000000,000000)000000
0000000000000000000. I=1(5 0000000000
000000000,0000000000000000000000,0000
000000.000,00000G=I-Tn+pa0000000000000O
000000,0000dG=-ndT+adp+pdS000,0000 (T,8,p)00
00000,000000000.

gobooo,gobobdoggoobogoobbbooubboooub,od
gogobbo.odoo,bbob,buoooobbbbbouooobobbobobodad
gb.bboogobbuoggbbooobbuoooboooa,bogobobod
gobbuooobbuoogb.booobboooboboo,bbooobboo
gbbodbbogobogbbooboo,bogboooboobbuoobobo
ggbbbuooobobbooo.oboboobooaon,

G = Go—no(T = To) + 110(S — So) — 0 [In (T/Tp) — 1] [1 + B5(S — So)]
+ao(p —po) |1 + Br(T —Tp) — Bs(S — So) — &(p — Do)

2
Bry*
2

+ (p —po)(T —To) + %(T —Tp)®

(1.6.94)

00000.000000000,G,7,8,p000000. 000000000 (O
000000C0000000000.000000000000000000)0
0000000,00000,0000000000000000000000C0
00.000000000000000001.62000.0,py=0, 8, = ay/c
0000O0000. 000,¢,0000000000. (1.694)00,00000
D000000O00DoO.

DDDDDDDDD,DDDDDDDDDD,a:(aG/(‘?p)TﬂD,

a=ag |1+ Br(l++p)(T —Tp) + %;(T —Ty)? — Bs(S — So) — Bop|  (1.6.95)
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000.000000p=—(9G/dT), ¢ O,

T
N =10+ oIz [L+ B5(S = So)] = cop | fr + Bm*g +B5(T —Tp)|  (1.6.96)
000.00,000¢,=T(9n/dT),s 0,

¢ = ¢po [1 + B5(S — So)] — awopBrT (1.6.97)

ggbo. dogoooboobbooogooo,bbbooooo,bbbobogod
gogbobuoooobood.

0000 =(97T/dp), s,

ar T (0 T
e (8_19)7,,5 N (5_;);),5 = ZoolBr(+7p) + BT ~To)] - (1.6.98)

Cp

000000 000,60 (1.697)000000000.

ogoooon ag U
o 0ooo 1.027 x10? kg m™3
o) agooo 9.738 x10™* m? kg~!
To agooo 283 K
So oooo 35 psu ~ 35 %o
Ceo 0000 1490 ms~!
Br gooooon 1.67 x1074K~!
x ooooooo 1.00 x 10K~
Bs oooooo 0.78 x103psu~!
By 000 (ag/cso) 4.39 x1070m 2 kg~!
o 00000000 (v*) 1.1 x10-*Pa~!
Cpo oooo 3986 J kg=! Kt
B 00000000 1.5 x1073 psu!

g 1.6.1: (1.6949)000000,000000000000000ODOOCODOOODOO
O.psu’ 00000O00D0O0,00000000 (%)000DO.

0000000000,000000000.
<5T> _ 9(T,n,S)
o ),s 9p,n,59)

_ 9, T,S) AT,p,S) }(80) , (8v>
8(]97 T7 S) 8(777197 S) ap T,S or p,S
fundamentals.tex 2013/11/14(0000)
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ggbbobuoooobbbuoooobbboodod

0060000, (1.686)00000000000000000.0000,0
0000000000000 00000000000,00000000000,
(16.96) 000,00 pp=00000,

Gszm{—%%pP+1¢p%i@—ﬂﬂ} (1.6.99)
A 2 Br

000 000, d =co[l+85(S—S)]000. (1.699)0,00000000
(1.5.53)00000,7,0,p00000000. 0000000000000,00
000000000 10000000, 00,7,40000 7,00000000
00000000,4000000.00000000000,(1.6.99)0,000
0Doo0o0oo0ooooo,

Too 1 ap Bt fenyera
T ~=° oSz (1+—'y*p+T0 gﬁTp) + 6 (l—i—To OﬁTp>

Cpo 2 p0 Cpo
T 1 T
~ 0007 (1+ —7*29) Ly <1+Tga06Tp) (1.6.100)
T
~ oOéoﬁT_l_Q/
Cpo

ooo.0o00,7=T-1T,=0-17,000. 000000000D00CCO0O
goboboo,bbooobobobogobobooobbooobbo.ooboboo
000000,00000 (1,579 000000000000000A0.

ggobob,buoogbobbbbuooooobb.oooo,bbbbdao
O00000O0o00OO0O0OO0OO0OO0O0O0O0. OoD0O0OO0O (1.6.950 (1.6.10000000

oobO,00b000000b00000b0000ob0Ooobaa,
or O T
5.3,
goo.

7(1.6.89) 00 (1.6.99)000. 000000000000000000D0 (1.6.97)0 pr=00
oooo,

(PR, 0) = cp(0,0) = 0 cp0 [+ B3(S = So)] = ¢
000,p,7000000000.0000,(1.6.89) 000000000,
0 = 0. exp [’77’0]

/
CP

000.000,6.,,00000000.000 0 (1.6.96)00000000, (6e,1e) = (To, 7o)
0000, (169900000,
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gogboooogb,

o) 1
azao1—d§§+@ﬂywwmy+§@ﬂﬂw%w—sw (1.6.101)
s0
D00,y =~ + ToBrao/cp = 7, shg” = et 2T/, =~ cg 000 (v* 0 * 0
D%000000000,&0 00 %0000000). 000000000
000000000, (1.6101)000000000. 000, p = —g(z — 20) /a0
(000, 2%0p=0000:0000)0000,

Z—Z w2 — 2 / 1 * N/
o~ 1—d%—l—ﬁcp(1+7 u)@ +§BT92—55(S—SO)}

s0 Qo
(1.6.102)
Ogod. obooooooon pobddnD z0000000,000000000

000.000,00000000000000000000000000000
0,00000000007.

82 000.
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00 A:(1.68) 000000000

0000000000 (1.685) 000
PA 000000000000 00000
0,00000 (Ty,p;) 0000000
(Tr,p,) 0000000000 O0000O
000004y 00000. 000000
00,016100000 A, BOOOO
ooo.

00000000000000000
0o0,0000000,

(mﬁAﬁB::(g%)T(MﬁAQB+(§¥>paﬂUA%B

(A.1)
0 1.6.1: 00 ADDOO BOODOOODO
0000000000000 dy(=mn —m) Oooob0. O0DA—-BO,00 AOO

nooo. OO0 BOOOODODOODOODOOOO
D00000000. 00000000
D000000D00000D0O00, (A1)
0000 (dp)as, (d)asps D, (1.6.85) 0000000 (dd)a.sg 0000000
000000. 00,000 (1.68)00000000000000 (1.6.89)00
0000,0000000000000™. 0000,000000000000
0000000000 00000D0000000.

Ny

0 A BOODODOOOOOOOODO,0000p=pgk000 A,BOOODOO
Oo00oooo. 0 A, BFO0D000000C000DO0O00,0D000000000

*9(1.6.85)0 0000000000000 (1.689)0000000000.
T,p00000000 (1.6.85)000000000,00000,

—1
or PR (3T .

000.00000000 I(p,T,pg) 0000, (A1) 000000000000,

o1 (5p), o [(30), -1 (), (3),7)

dl =

or

(), [0 3)

goboobooooooogobooo.oo,p=ppg 0000000000 I=100000000
goog.
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o0ooo0ooooooo.ooooo,0 A,pooooco0ogooooooo,

¢,(pr, 0
() = 200D ), (4.2
0000. 000, 00000000000, 00,0 A, BO000O0, 0 A,
BOOOOOOOOOOO n,n000000, (d)ass = (d))arsp, (d0)ass =
(d0)aop 000DO0. 00000,

¢p(Pr; 0) () sm (A.3)

gogo.
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